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=3x-y+1+x-2y+2
=4x-3y+3
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(245 — x4+ 1) + (o2 1 2) o] AAFA Lo 2]

® -5x+1 @ -x+1 ® 5x+1
@ x+1 (@)—7x+1

2x% - 3x + 12 x? + 22 23 HrolA] 73
¢ 2x, WA =T+ 1




4. A (a-b)(a® + ab+ b?) & NSFH?

O a®-0p? @a3—b3
® a®+ b3 @ a3+ 3a®b + 3ab* + b°

® a3 -3a®b + 3ab? - b3

A (a-b)(a® +ab+b%) =a®-b?




x off gk o+ 343y + 5y —xz+9xy—4 ©of tjste] o2 B F &2

O WAooz Ae|otH
3yx® + (9y — z)x + 5y — 4 °|th,
© e8AeoR Felah
5y —4 4 (9y — z)x + 3yx3 o[t}
© Fol71 kAL x o g 3 Ao,
® * ©] A% 301,

® A%5FE -4 o)t

® &, © ®@a. 0 ©
® 6,0 @ 6.0 0 0
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® x* 9 Al 3y oltt.
@ &5d2 5y -4 °lth.
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AGBZA—3B,A®B=(A—|—B)B

P=2x3+2x’y +3xp2 =y, Q0 = x> + x>y + xy? o|=+ & ],

(P Q)® QE x yoll Wt tpaAl oz YJepfH?

e

@ x4y2 + xy5 @x4y2 _ xy5 @ x3y2 _ xy4

@ x3y2 +xy4 @ 2x3y2 _xy4

Hojo] wat (Po0)e 0B WA
(PeQ)®Q=(P-30)®0

= (P-30+0)0
= (P-20)0 - @
P-20
= 2x% + 2%y + 3xy? — y® — 2(x® + x%y + xy?)
— 2 )3

olEE D42
(PEQ)®Q = (02 =y*)(x* + 2%y + 1y%)
= x4y2 4+ x3y3 4 a2yt — 133
_ x2y4 _ xy5
= x4y2 - xy°




7. TS B8 -3x-32 A a2 —2x— 1 2 UFS 0ol ol ax+b
o], A7t ex +dolek ol W, a+ b+ c+ d 9] 27

® 1 @ 2 @3 @ ® 5

B ~
¥ -3x-3=(%-2x-1)(ax+b) +cx+d

AA AsE BlaLst
a=1,-b+d=-3,-a-2b+c=-3,b—2a=0
N a=1,b=2d=-1,c=2
“atbt+c+d=1+2+(-1)+2=4




8. oA f(x)E 2x% +3x+ 22 YR TEY Fxol 3x—40], |7}
2x + 50|t} o] o, £(1) 9] gh2?

-1 @o ®1 @ 3 ® 5

B

flx) = (2x® + 3x + 2)(3x — 4) + (2x + 5)
=6x3+9x% +6x—8x> - 12x—-8+2x+5
=6x3+x2—4x-3

L f1)=64+1-4-3=0

f(x) = (2x2 +3x+2)(3x—4) + (2x + 5)
fA)=2+3+2)(3-4)+(2+5)=-T+7=0
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12. o2 199 A4S AGHE, A4S EFCD = AE
AAF2rgol T, AD — a, AB — b A}, A2}

GBFH 9] Ho]=? G H
B F

® a® - 2ab - b? @ a2+ 3b% - 2ab

(@)—a2 + 3ab — 2b> @ —-a®+ 3ab-b?

® -a* + 2ab - b*

oGBFH = oABCD — oAGHE — oEFCD
=ab - (a-b)?-b? =ab - (a* - 2ab + b*) — b?
= —a® + 3ab — 2b>
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(a+b-c)la—b+c)E ANstH?

@ a?+b%-c2%-2bc
® a?+b% -+ 2ab

® a®-b%-c?-2ab

@ a® - b+ % - 2bc
(@)a2—b2—02+2bc

(a+b-c)la=b+c)
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15. (& +ax+2)(x2 +bx+2)E ANAS W], 2} 3 2] AlFE BF0
o] A sh= 44 a, bell st a+ b 2] 327

oW

@ -2 @—1 ®1 @ 2 ®

B

(2% + ax + 2)(x? + bx + 2)

= x5 +bx* + (a+2)x® + (ab + 2)x* + (2a + 2b)x + 4
(x2 O] Alg)=(x* 9] AlF)=0°] B2
ab+2=0,a+2=0

Tt a=-2, b=1

La+b=-1




16. a2+024+c¢2=9,ab+bc+ca=9, a+b+c2 FL?

D -32 @ -2+3 @if’)‘/g
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(a+b+c)? =a?+b*+c?+2(ab + bc + ca)
=9418 =27

a+b+c==+3V3
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= A3 + 3A2x* 4 3Ax8 + x!2
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T oA 9 3 o] AleE Er

“a-b=0

O](l-["

&
%0
R
5o
|o
|0
il




18.

(1+2x—3x2 +4x% — 5x* + 6x° + 7x5)2 o] ZA7jAlof|A] &3 o] Al4=E=2

® 0 @ 2 @2 @4 ©G)u
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(10° + 2)7 €] 2} A2l ] 5] Fg Foroder,

@ 15 @18 ® 21 @ 26

B

A& A7Nskd
1015 + 23 + 3 x 2 x 10°(10° + 2)
=10" 4+ 23+ 6x10'° + 12 x 10°
=10 4100 x 6+ 10° x 12 + 8

“14+6+1+2+8=18
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